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FA: Aot
B 520l 2|2 ASlET SEIA
el OiEd=k 2el=2dY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZd HESA 10,000,000 *57H 2 50,000
03 Al 2 0HYI 2,000 1,872 128
ObtSssE RAZ+=3At
2,000,000& %1 2,000
ot AlE I 11,604,300 10,230,480 1,373,820
= 5,729,000
= 682,000
Ea 5,193,300
FXclAlE [l 16,000 16,000
201 er=2 3| 16,000 16,000
01 AtR2te|HI 10,900 10,900
Ox=Z ZAtHI 100,000 *1 100
O&stx eHHEM =l
4003 *2,00001*12] 800
O3Sz HaAEssE 7Y
2,500,000 43 10,000
02 S3=gHl 5,100 5,100 0
OFSIE SN &&=
400+2,00000*12] 800
Odot== &3l 2,500
OSSEAS At SRS
7,500 x2000 A+ 128 1,800
Lalot=S 2Ny = oA 50,000 50,000
401 AIEHIX 20 50,000 50,000
01 AlZ2H| 50,000 50,000
LA ot=BUME FHESALY 50,000
SSEE HEAY 35,000 35,000 0
101 e124d| 5,000 5,000
M ORNZZ2NSE S 5,000 5,000
O3t AMd8E |2l 5,000
401 Al HIZL 2018 30,000 30,000
01 Al&H| 30,000 30,000
Ossaad MHE+ 30,000
o= =4 & 2 150,000 151,080 /1,080
401 AlZHIZ S 0HHI 150,000 151,080 1,080
01 AlZH| 150,000 150,000 0
O33ot=ZAlE =& & 2l
150,000,000 *1& 150,000
OtSot=X HEALE 1,006,300 1,597,732 AN591,432
401 Al HIZL S 0HYI 1,006,300 1,897,732 A591,432
01 Al&HI 1,000,000 1,592,000 /592,000
Odte22 HSALS 800,000,000& x14] 800,000
Ot AIE= HEAS
200,000,000 * 14 200,000

_538_




SN MBS
M 28F0 B2IZ MBHAE SEIHH
el St AlE i (SH9 H2)
SA - B BRA(SH) - HRA - of v G o HIDE2
03 A& S CHYI 6,300 5,782 568
Odt=E HEAIS 1,000,000, 000& +0.63% 6,300
SOl &x U Zel(S01E0IS - ZHIAL)(Q 1,654,000 928,000 726,000
EX+)
= 1,158,000
s 496,000
401 AIEHIZ SR THYI 1,654,000 928,000 726,000
= 1,158,000
[Ea 496,000
01 Al&HI 1,650,500 924,652 725,848
OLEXNT sHE OtSot=E ZHIAIS 1,650,500
= 1,158,000
= 492,500
03 Al = THHI 3,500 3,348 152
OLEXF sOE Ot=ote= EBIAIE0.72% 3,500
St=Eo AX & 22/ (o2AZ T ) (LR 22) 850,000 4,174,410 A3,324,410
= 425,000
o 425,000
401 AIEHIZ SR HYI 850,000 4,174,410 A3,324,410
= 425,000
T 425,000
01 Al&HI 847,000 4,164,000 /3,317,000
O2% L=ot=22 JHIAY 847,000
= 425,000
= 422,000
03 AIZ2THYI 3,000 10,410 AT7,410
O =ot+=2Z FHIAIE*0.72% 3,000
St=Eo &X 2 22l (sHENSH+E ZHIAIY)(H 2,659,000 716,001 1,942,999
ININEY!
= 1,688,000
T 971,000
401 Al HIZL 201 2,659,000 716,001 1,942,999
= 1,688,000
= 971,000
01 Al&HI 2,653,000 711,490 1,941,510
OdLH I+ sHE Or=ot= HIAH 2,653,000
= 1,688,000
Ea 965,000
03 AlESTHYI 6,000 4,511 1,489
O&U7 sOE Ot=ote=T HHIAIZE#0.63% 6,000
St=o #X ¥ 2e(sHENSS+E FHIAG)N(L 1,857,000 256,000 1,601,000
FA7)
= 1,218,000
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2A:

N 58XH 2 Aot SEIfL
Cel: ol=EAlE JHA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 639,000
401 AIEHIX 20 1,857,000 256,000 1,601,000
= 1,218,000
s 639,000
01 AlZ8| 1,853,000 254,157 1,598,843
OLFX7 sHE OtSot=E ZHIAIS 1,853,000
= 1,218,000
Ea 635,000
03 Al 2CHYI 4,000 1,843 2,157
OLF X7 s0E OtSote= HBIAIZ*0.72% 4,000
SHeZol HX U HRl(SOIENSTAE ZUIAY) (S 1,067,000 153,001 908,999
XI+)
= 740,000
s 317,000
401 AIEHIZL SR THY] 1,057,000 153,001 903,999
= 740,000
[Ea 317,000
01 Al&HI 1,054,000 151,899 902,101
Os&X+ s0E ISdt+=E MY 1,064,000
= 740,000
= 314,000
03 A2 THYI 3,000 1,102 1,898
O8N+ sOE Ot=ote= EBIAIE0.72% 3,000
izl Mx o B2l(S01E 0I25t+E FEIA)( 300,000 0 300,000
)
401 AIEHIZ SR OHYI 300,000 300,000
01 Al&HI 300,000 300,000
O8F - 21380l= s0E Ot=ot=E JUIA
& 200,000
QINA0IE SO0E OISdt= FHIAY 100,000
St X % 2e|(Gt=22FH|) (B = 22) 833,000 0 833,000
= 500,000
o 333,000
401 AlZHIZ SO 833,000 0 833,000
= 500,000
o 333,000
01 Al&HI 831,000 0 831,000
OYa BB=HTY L2542 Bl
Ard 831,000
= 500,000
= 331,000
03 AIZ2THYI 2,000 0 2,000
OYa BBRsIEHUTY L2ETZ F|
Fd+0.7 2,000

_540_




SN ABtE D
ol ot

M g8H clZ oot =2
2o o= AIE e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
St &X1 ¥ 2el(sHEOISo+E FHIAY) (G 1,137,000 0 1,137,000
EX+)
= 682,000
Ea 455,000
401 AIEHIX S0 1,137,000 0 1,137,000
S 682,000
o 455,000
01 A28l 1,134,000 0 1,134,000
OStEXT sHE OtSot=E ZHIAIS 1,134,000
== 682,000
[Ea 452,000
03 Al 20HHI 3,000 0 3,000
OotEXN T s0E Ot=0ots SHIAIS*0.72% 3,000
=% Jl=2tal 102,000 102,000 0
=% Jl=22 102,000 102,000 0
201 fer23y| 102,000 102,000 0
01 AtR2t2|HI 102,000 102,000 0
Ogadsd A
5,000,000& * 1204 & 60,000
oY g+& X4
2,500,000& * 1294 & 30,000
OltA=d gR4¢
1,000,000 1290 & 12,000
AH2LIHI(Yot=Cn) 46,140 46,080 60
J1I=28Hl 46,140 46,080 60
aot=E 1t D123l 46,140 46,080 60
201 2egh=3| 19,440 19,440 0
01 At2telt] 19,440 19,440 0
OsAH &t 15,552,000 1 16,552
OSEHl A0 & 3,888,000& 1 3,888
202 048l 21,600 21,600
01 2L AL 21,600 21,600
OFH08I 21,600,000& *1 21,600
203 =] 5,100 5,040 60
M FA2ELRFEI 5,100 5,040 60
Oaot=E1 FM2E 425,0008 123 5,100
HRes(aote=c) 7,247,085 5,565,990 1,681,095
LIS HeHKIE 7,201,957 5,565,990 1,635,967
d-EANESEH MES 7,101,957 5,565,990 1,535,967
701 JIEtSI HSHES 7,101,957 5,565,990 1,535,967
01 JIEt=I AN ES 7,101,957 5,565,990 1,535,967
Od+=EAIHSE3H HMES 7,101,957
o= AIASE3H MES 100,000 0 100,000
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S Aot=E1t
M HREs(dot=Z1)

Sl WEAHAHX = EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

701 JIErRIHISHES 100,000 0 100,000

01 It AN ES 100,000 0 100,000
Ot A SE3H HES 100,000

282 45,128 0 45,128

Brz=trE 45,128 0 45,128

802 gratsJIEt 45,128 0 45,128

01 =2N2xSeE=s 45,128 0 45,128
OL=otr=22 JE XA 45,128
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